
M4 x 25mm buttonhead
4mm washer

4mm washer

M3 x 12mm
flathead

4mm locknut

wheel

aluminum
bushing

wheelie bar
bracket

         #81582 - Low Visibility Wheelie Bars for the Traxxas X-Maxx
What's Included: 1 - tree (containing 1 - Wheelie Bar Bracket & 2 - Nylon Wheels), 4 - M3 x 12mm flathead screws, 
2 - M4 x 25mm buttonhead screws, 4 - M4 washers, 2 - 4mm locknuts & 2 aluminum bushings.

Required: You must have an RPM #81762 X-Maxx Rear Bumper Mount (not included) in order to install RPM Low 
Visibility Wheelie Bars. They will not work with stock or any other known aftermarket rear bumper mounts.

Before You Begin: If you've already installed an RPM #81762 X-Maxx Rear Bumper Mount, it will be easier if you 
remove it to install your new Wheelie Bars but not necessary. Carefully trim the Wheelie Bar Bracket and Wheels off 
of the parts tree, removing any burrs from the wheels at that time.

Installation: Refer to the illustration below for a visual reference. Start by installing the RPM 
wheels on the wheelie bar bracket. Install the assembly in exactly this order: 
M4 x 25mm buttonhead screw / 4mm washer / aluminum bushing / RPM 
wheel / 4mm washer / RPM wheelie bar bracket / 4mm locknut. Caution: 
The smooth, flat side of the 4mm washers should rest against the 
wheel. Do not over-tighten the screw since the 
wheel needs to rotate freely. Once both 
wheels are installed, bolt the bracket to 
your #81762 bumper mount using the 4 
included M3 x 12mm flathead screws. 
Finally, install (or reinstall) your 
#81762 bumper mount on to your 
truck.

Note: RPM wheelie bars are primarily 
designed to help protect the rear 
bumper and are not designed for 
long-distance / extended 
wheelies or to prevent flips.


